2

the questions.

Each question is followed by four optio!

; » ~11° (7
in pencil, o7 vour answer sheet, the answe .
Give onl one answer 1o each guesfion. An exa

Apswer all
s lettered Ao

nple

The ages. in years. of four boys
A. 12 ycars
B. 124 years
C. 13 years
D. | 3% years
The correct answer is 13 years, which is le

[A] [B]

Think carefully before you shade the answer spaces; erase ¢

Do all rough work on this question paper.

Now answer the following questions.

L. Giv (x2+2v)
. Giventhat2 =8, find the values of x.

A. 3,1

B 3,- 1
C -3,1
D -3,-1

2. A binary operation * is defined on the set of real
numbers, R, by x¥y=x—y+ 2xy.
If x * (— 5)=— 13, find the value of x.

o
2

B. 2
C. -2
5 =
© T2

spd/SCA011/cg/22

D. Find the correct option
J; bears the same

) space whic
is given below.

are 10, 12, 14 and 16.

tered C, and therefore answer space C

for each question and shade
letter as the option you have closen.

What is the mean age of the boys?

would be shaded.

[D]

ompletely any answer(s) vou wish to change.

Find the equation of the line through the point
P (— 1, 2) which is perpendicular to

3x—Ty+2=0.

A. 7,“"!‘3_1'—-13:0
B. Tx+ 3)’+ 1=0

C. 3x+7p+13=0
D- 3.T+7y+ 1 :O

Find the fou : _ _ .
of (g rth term in the binomial expansion

A. | 4_\2.,.2
B. 4@,3
C. —4x32
D. —4y?
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21.

22,

23.

24,

25.

Given that M:[ 0.20.9 al
and
=01 1.1
s 09 —-1.6
03 41 I evaluate, correct to two
decimal plnccs.l M- EN. .
A. 14.23
3. 11.36
C. —=2.87
D. = 11.36
(iivcﬂml !3Q = 5i+ 3j and PR =2i+5j,
find RO .
A, Tit+8j
B. 3i— 2
C. —-3it+2j
D. 3i+ &)
Find the least value of x that satisfics
x++3x+4 =8,
A. 3
B. 4
G, 5
D. 7
How many terms of the Lincar Sequence (A4.F)
6,2.-2....must be added 1o obtain a sum of
-7147
A, 17
3. 19
C. 2]
D. 23
If (x + 5) and (x = 3) are factors of ke + 6y -+ {,
find the value of ¢ — 3k.
A. 54
B3 36
C. —48
UK

26. Express cos 135° as a simple surd(radicals).

5

A, —
2
B. iy
2
|
C. —_
2
o B2
2

27. Find the values of m for which
(m+5)2+ (m*— 1?2 +2x—5y+5=0isan
cquation of a circle.
A. m=-2and3
B. m=—2and -3
C. m=2and -3
D. m=2and3

28. Intriangle XYZ, | XY| =8 cm,l}’Z‘ =10 em and
ZXYZ=42° Caleulate the length of AZ.
A, 6.72cm
B. 11.52¢m
C. 11.82cm
D, 12.72¢m
29, Given that F= {(x +1)!,x € Nand 0 <x <5},

G=1{2x- 1),y e Nand 0 <x<7}and
= {(2x+ 1), x € Nand | <x<5} are three
sets, find FN(G Y H).

A {3451
B. {31,5,7}
C. {547}
D, {5,791}

Turn over
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|
13 Simplity: 2_\;3

:\. Vi — 'l\/':‘
B. 2- \E
e 2+\3

D 7% 4\5

14. The probabilities that John. Rose and Tom will win
A - 3 2 3
a prize in a competition are — . — and =
53 7
respectively. Calculate the probability that
exactly two of them would win the prize.

A. 03714
B. 0.4476
C. 04286
D. 03429

15. A force P N acts on a body of mass 4 kg moving
at 8 ms~ ! for 0.5 seconds. I[ the final velocity is
10 ms™!, find P.

A 144

B 100

C. 16

D 12

16. Simplify: @+ V¢ - e

A, 2n+2
B nt+4
C. n+2
D n+1

TECHOG

5 g
£ e T wherex# e find g~ (x).

17. Ifg S_ax
- Sx—=7
A. gl(-\')=—;—‘~—\'¢0
4x
B. .s:"(-\'):""'”.\#ﬂ
4x
C. g_l(.\‘): 5+7.r“\¢0
4x
i 5—Tx
D. g‘(.\-)z'_7—“.\-¢0
4x
18. 1l‘—5;\-i—P4§ 2 +—Q—, where P and Q are

xF=3v+2 x=2 x—1
constants, find the value of (P + Q).

—

n

SN ® ¥
(¥

2
19. If _l‘_l(fi\‘* 2)edx =0, find the value of k.

A -4
1
B. ~3
1
C. 5
D. 4

20. Given that a particle of mass 2.5 kg has an initial
velocity of (6i — 45 ) ms ! and a final velocity of

—8i+2)ms” !, fi i
( ) ms ", find the change in momentum in Ns.

A. 35i~ 15§
B. =35i + 15§
C. —14i +6j
D. =5i—5j
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5. Find the range of values of x for which 9. Simplify: ———_logz‘/é ;
2= 3x+2<0. logg —l]
A, 2<x<| 3
B. -l<x<2 Ay
C. 2<x<-—] 3
D. l<x<2 8. 4
C 3
6. Theprobability of Elohor passing any examination ' 4
T (I
18 —. If she takes three examinations. calculate 3
3 D. - =
the probability that she will fail two of them. )
4 - .
A 9 10. Find the area of the finite region enclosed by the
curve y = 31> — 2v + 1 and the lines ¥ = 1 and
2 B =2
’ 9
g A. 12 square units
cC. = .
27 B. 10 square units
1
D. 27 C. 7 square units

D. 5 square units

5 x=2
7. Evaluate: |lm3 5 .
S 11.  Astone is thrown vertically upwards with a

velocity of 10 ss™" from a point 8 n above the

A0 ground. Find the maximum height reached.
1 [Take g =10 ms ]
B g
I A, 13m
C. .
o B. 15m
D. 1
C. 18m
8. The first term of a geometric series is 350. If D. 23m
the sum to infinity is 250, find the common
ratio.
5 o1y 2| 2T TR J
A T3 1 7 4 y 7 26
7
B 2 find the values of x and y.
' 5 X -
A, x=—8y=-35
2 -
c B. x=-7y=-5
5 . C. x=7,y=35
§ "_; D. x= 8“}: =5

A SR


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

The table shows the distribution of mark

students inoa test,

i :.'l'tII'L'I! l',\'

Marks \ | 2
Number of | 6 4 N
canddichates

Use it to answer guestions M and M.

M.

32 p=(Thm. 033%) and ¢ = (5 km,

Find the third quartile,

A0
[N Y
L .0
D, 45

What percentage of'the students scored more than
the modal mark?

Al 0%

|
B. 22:%
C. 30%
D.  §5%

233°), find (p +q).

AL (12 &, 05339)
B, (12 km, 233°
C. (2km, 2339
D. (2 km, 033°)

The mapping f: x — 2 + nx +

nis define
the set of real number, g. If f(- ke

1)=2and
J(1) == 2, find the values of mand p
Al m=1n=2
li ﬂl—'—lln:z
C.om=-2p=—)
B. m=-2p= =)

spd SC400 ) g2

M

36.

37.

" Wl I wee INAE
Find the aeule inple between lines by

i
und 3y = 2= 1=0. =
A BT
I, 787"
. o8, 1°
0, 67.2°

A unitorm rad, PQ ol length 100 em ang Mass
[0 g is kept in o horizontal position on 5 Pivol
ul {I||L- |mi|]| 30 cm lrom P a4 2 mass i
suspended at the point 10 em from P, fing the
mass that must be suspended at 80 em from, 0
in order to keep the system in equilibrium,
[Take g =10 g2

A 12g
B. 10 g
C 8y
D. 6y

Consider the following statements:
P : Those who studied Physics are Engineers

Q@ : Engineers are wealthy

Which of the following is a valid conclusion?

A.  Ben is wealthy implies he is an Engineer

B.  Bendidn't study Physics implies he is not
an Engineer

C.  Ben studied Physics but he is not wealthy

D.

Ben studied Physics and he is wealthy

A polynomial is defined by 23 — 7x2 + 3x +5.
Find the remainder when it is divided by

(x—13).

A 13
B. 12
C. 11
D 35

I
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1
38, Simpliy: =1
n(n!)
% o
n!
1
B. —
n-
C. =
n
1
D. —
n+1

39. Find, in ascending powers of x, the third term in
the binomial expansion of (2 —x).

A, -80%°
B. —80x°
C. 80x?
D.  80¢°

spd/SC401 1/cg/22
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40. The length of the sides of metal cube
increases at a rate of 0.1 m per second. Find
the rate at which the volume increases at the
instance when the length is 1.2 m.

A. 8413 s
B. 4.320 s~
C. 2.881ms™!

D. 0432ms7!

END OF PAPER
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